o(d dxy) (cm)

o
AUl

Ad
Ty
+!

q 1T 3
: ! £
H.. J

o(d dz) (cm)

1071

305

Rati
'_\

0.95

0.9

e d L rS Jh

H: + S| L -+

K -+ [ SRR e S - -- 4-1---{-{ -
[ P 1 FHES g pe ¥

- re b : X

H: - . o

H: ] : |+

i i i i sl i

|
w

—=— DOQM_mKFit_TToriginal
—e— DQM_mkFit_TTNEW

—— DQM_mkFit_TTNEWS50
—— DQM_mkFit. TTNEW100

o(d @) (rad)

G
ok
=,
L

b
*
&
o

30 1 i

Rati

H
T T T T T T
3}
'y
'
.
b
.
H
]
T
iy
|
1
.
7
L

i 1

0.95

3 -2 -1 0 1 2
TP ® (PCA to beamline)

(i

Tl ]

0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


